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1. List of competencies formed by the discipline (in whole or in part)

universal (UC) / general cultural (GCC)

The code and name of the universal /
general cultural competence

Indicator(s) of achievement of universal /
general cultural competence

UC-4 Able to apply modern communication
technologies, including in a foreign
language(-s), for academic and professional
interaction

Al 1 UC-4 Able to use verbal and nonverbal means
of communication and to choose the most effective
ones for academic and professional interaction.

Al 2 UC-4 Observes generally accepted norms of
communication and expressing opinion (judgment),
as well as in discussion, dialogue, etc..

Al3 UC-4 Able to communicate in a foreign
language in the process of academic and
professional interaction, to use  medical
terminology, in a foreign language(-s) as well.

Al 4 UC-4 Able to use modern information and
communication tools and technologies.

2. Types of evaluation materials in accordance with the competencies being formed

Name of the Types of evaluation materials Number of tasks
competence per 1 competence
uC-4 Closed-type tasks 25 with model answers
Open-type tasks: 75 with model answers:

- tasks for extensions 10 with model answers

- situational tasks 30 with model answers

- interview questions 35 with model answers

uC-4:

Closed-type tasks: 25 tasks IN TOTAL.

Task 1. The instruction: Choose one correct answer.

JIKOH MI0XO MUILET ....

1. pycckuii

2. O-pyCCKH

3. pyccKui s3bIK

4. Poccus

The model answer: 2. mo-pyccku

Task 2. The instruction: Choose one correct answer.

CTyeHThl ¢ HHTEPECOM U3YYArOT .. ..
1. pycckuii

2. IO-PyCCKHU

3. pyCCKuil sI3BIK

4. Poccus

The model answer: 3. pycckwuii 361K

Task 3. The instruction: Choose one correct answer.
S He ... mepeBecTH pacckas, IOTOMY YTO AJIM B3sU1 MO clIOBapb.

1. 35a10




2. yM€1o
3. mory
4. Oyny
The model answer: 3. mory

Task 4. The instruction: Choose one correct answer.
BI/IKTOp ... QHTJIMACKUM SI3BIKOM B IMMOHEACIBbHUK U YCTBECPI.
1. 3anuMaeTcs

2. yuurcs

3. yuur

4. uzyvaer

The model answer: 1. 3anumaercs

Task 5. The instruction: Choose one correct answer.
[IpenomaBarens ..., 4To 3aBTpa OyJIET KOHTPOJIbHAs padoTa.
1. pacckazan

2. pa3roBapuBal

3. cKazai

4. cipocui

The model answer: 3. ckaszan

Task 6. The instruction: Choose one correct answer.
Mos noapyra ... Ha 5 KOHOMHUYCCKOM (I)aKYJ'ILTeTe

1. uzyuaer

2. y4uT

3. HayuyuTCH

4. yuutcs

The model answer: 4. yaurcst

Task 7. The instruction: Choose one correct answer.
Moemy 6paty ... y4uThCS B MEAMIIMHCKOM YHUBEPCHUTETE.
1. mrobut

2. Xo4eT

3. HpaBUTCA

4. pemnn

The model answer: 3. upaBuTCsI

Task 8. The instruction: Choose one correct answer.
3TI/I CTYACHTHI BCCTJIa BHUMATCIILHO ... JICKIIUH.

1. capmar

2. cymaroT

3. ycaplmar

4. mociymarT

The model answer: 2. caymrator

Task 9. The instruction: Choose one correct answer.
Ceituac Pammy sxkuBEt B Poccun. OH 4acTo ... CBOIO CEMBIO.
1. BCHOMHHUT

2. BCIIOMHUHAET

3. BCIOMHHUI

4. BCIOMHHAIT

The model answer: 2. scriomunaer



Task 10. The instruction: Choose one correct answer.

YPOK 3aKOHYMJICA, HO CTYACHTHI IIPOAOJIKAINA ... YIIPa)KHCHHUC.
1. mucarts

2. HamucaThb

B. nmucanmu

I'. Hanucamu

The model answer: 1. nucars

Task 11. The instruction: Choose one correct answer.
daruma unTana HOBBIM TEKCT U ... HOBBIE CJIOBA.

1. mepeBena

2. mepeBoauia

3. mepeBOAUT

4. nepeBenéT

The model answer: 2. nepeBoania

Task 12. The instruction: Choose one correct answer.
Korna s pemry 3anauy, s ... Te6e OTBET.

1. mokasbIBaro

2. IOKaxy

3. Oyly OKa3bIBaTh

4. mokaszan

The model answer: 2. mokaxy

Task 13. The instruction: Choose one correct answer.
p| Xouy, tITO6I>I 3aBTpa ThbI ... MHC.

1. moMosxenib

2. Oyzaeub momMoratb

3. moMoraeib

4. momor

The model answer: 4. momor

Task 14. The instruction: Choose one correct answer.

Moit 1pyr yacto ObIBaeT ...

1. HamIe cTyIeHYecKoe OOLIeKUTHE

2. B Hallle CTyJIEHUYECKOE OOIIEeKUTHE

3. B HaIlIEM CTYJI€HYECKOM OOILIE)KUTUN

4. U3 HAIIEro CTYIEHYECKOT0 OOLIeKUTHS

The model answer: 3. B HaleM CTy/I€HUECKOM OOLICIKUTUN

Task 15. The instruction: Choose one correct answer.
BuxkTop pacckazan MHe ...

1. B cBOECIT HOBO paboTe

2. 0 cBOeit HOBOW paboTe

3. Ha cBOel HOBOM paboTe

4. u3 cBoei HOBOI PabOTHI

The model answer: 2. o cBoeit HOBO# paboTe

Task 16. The instruction: Choose one correct answer.
W3BeCTHBIN pyCCKHM UCATEIb HAITACAI ...
1. B aTy KHUTY



2. B 9TOM KHHUTE

3. 3Ty KHHUTY

4. u3 3TOM KHUTH

The model answer: 3. sty kHuTY

Task 17. The instruction: Choose one correct answer.

Ha xanukynax crygeHThl Hamero ¢pakyibTera e3WIH . ..
1. u3 pa3ueix ropogos Poccun

2. B pa3HbIX Topoaax Poccuu

3. B pa3Hble ropoga Poccun

4. no paszubix roposioB Poccun

The model answer: 3. B pa3ubie ropoaa Poccun

Task 18. The instruction: Choose one correct answer.

B sTom roany bopuc noctynuin ...

1. ¢ pusuKo-MaremaTHUECKOTO (haKyIbTETa

2. k pU3NKO-MaTeMaTu4ecKoMy (haKyJIbTeTy

3. Ha (PUBHUKO-MaTEeMaTHYECKOM (aKyIbTeTe

4. Ha QU3MKO-MaTeMaTHUeCKul GaKkyIbTeT

The model answer: 4. Ha ¢pu3HKO-MaTeMaTHYSCKUN (PaKyIbTET

Task 19. The instruction: Choose one correct answer.
3aBTpa ... OyAeT JeHb POKICHUSI.

1. moeii Mianieit cecTpsl

2.y Moeil mitaiei cecTpbl

3. Most MyaImias cectpa

4. nyist Moelt MJaIel cecTphl

The model answer: 2. y Moeii Mmiajiiei cecTpsl

Task 20. The instruction: Choose one correct answer.
B sTom ropone Her ...

1. My3BIKQJIBHOTO TeaTpa

2. y My3BIKaJIbHOT'O T€aTpa

3. B My3BIKQJIbHOM TeaTpe

I'. My3BIKQJIBHBIN TEATP

The model answer: 1. My3bIKaIbHOTO TEATPa

Task 21. The instruction: Choose one correct answer.
Ceroaug Jlena mo3aHo BBIIIIA ...

1. B 0OIIIEKUTHH

2. B OOIIEKUTHE

3. 13 OOIIEKUTHSA

4. HarIPOTUB OOIEKUTHUS

The model answer: 3. u3 oOwmexurTus

Task 22. The instruction: Choose one correct answer.

Ha ypoke npemnonaBarens OOBSICHII ... HOBYIO TpPaMMaTHKY.
1. cryneHTsl

2. CTYJIEHTOB

3. cTyJleHTam

4. cryneHTaMu

The model answer: 3. ctyaentam



Task 23. The instruction: Choose one correct answer.
... HY’)KHO TOWTH K Bpauy.

1. Moii orent

2. Moemy otity

3. Moero oTia

4. MouM oTIOM

The model answer: 2. Moemy ortiry

Task 24. The instruction: Choose one correct answer.
Moii cTapmuii 6pat Xxo4eT CTaTh ...

1. Bpau-xupypr

2.y Bpaya-xupypra

3. ¢ BpauyoOM-XUpyprom

4. BpauyoM-XUpyproM

The model answer: 4. BpauoM-Xupyprom

Task 25. The instruction: Choose one correct answer.
I/Ipa 9acCTO COBCTYCTCA ...

1.y cBoelt moapyru

2. cBOEH moapyre

3. co cBoeil moapyroun

4. cBoeil moapyroi

The model answer: 3. co cBoeii moapyroit

Open-type tasks: 75 tasks IN TOTAL.

Task 1. The instruction: Complete the sentence with appropriate verb in the required form.
Pamx n3 Uaanu.
The model answer: mpuexai.

Task 2. The instruction: Complete the sentence with appropriate verb in the required form.
Ceiiuac o B Poccun, B PocroBe-Ha-/loHy.
The model answer: >xuBEr.

Task 3. The instruction: Complete the sentence with appropriate verb in the required form.

PaI[)K B PocroBckom rocyaiapCTBEHHOM MCAWUIUHCKOM YHUBCPCUTCTC Ha
neuyeOHOM (hakynbTeTe Ha BTOPOM Kypce.

The model answer: y4urcs.

Task 4. The instruction: Complete the sentence with appropriate verb in the required form.

Ha BTOPOM KypCC€ CTYACHTBI MCAUIUHCKOIO YHUBCPCUTCTA aHaTOMMUIO,
(bU3HONOTHIO U IPYTHE MTPEIMETHI.

The model answer: u3y4ator.

Task 5. The instruction: Complete the sentence with appropriate verb in the required form.
CryneHTsl JIEKUUHU B OOJIBIINX ayJUTOPUSIX.
The model answer: cinymator.

Task 6. The instruction: Complete the sentence with appropriate verb in the required form.
[Tocne 3ansTHii OHK K ceOe B 00IIe)KUTHE.
The model answer: unyt / exyT.



Task 7. The instruction: Complete the sentence with appropriate verb in the required form.
Kaxapiii Beuep CTyIeHTHI JTOMAIIIHEE 3alaHue.
The model answer: nenator.

Task 8. The instruction: Complete the sentence with appropriate verb in the required form.
BOCKpCCCHBe — BBIXO,I[HOfI JACHb, IIO3TOMY CTYACHTEI
The model answer: otapixaroT / He y4arcsi.

Task 9. The instruction: Complete the sentence with appropriate verb in the required form.
Buepa Pampk uyBcTBOBaJ ce0s1 TII0X0, MOATOMY OH K Bpauy.
The model answer: moméxn / xomu.

Task 10. The instruction: Complete the sentence with appropriate verb in the required form.
ITocine IIOCCHICHUA Bpayda Pasz MOIIEI B aIITeKy U JICKApCTBO, KOTOPOE BhIINMKUCAII
JIOKTOP.

The model answer: xymu.

Task 11. Get to know the situation and answer the question: Ymo eéam nyascno coenamo 6 dannoi
cumyayuu?

BrI m10X0 ce0st 4yBCTBYyeTE.

The model answer: MHe Hy>KHO OiTH K Bpauy. (MHE HY»KHO IIPUHSTB JIEKaPCTBO. )

Task 12. Get to know the situation and answer the question: Ymo eam nyscno coeramo 6 dannotl
cumyayuu?

V Bamiei noapyru J1€Hb pOXKICHUS.

The model answer: MHe HYKHO KyITUTh [0JapOK (1IBETHI).

Task 13. Get to know the situation and answer the question: Ymo eéam nyscno coenamo 6 dannoi
cumyayuu?

Bb1 X0oTHTE IPUTOTOBUTH 00E.

The model answer: MHe Hy>KHO KyITUTb POTYKTHI.

Task 14. Get to know the situation and answer the question: Ymo eam nyscno coeramo 6 dannotl
cumyayuu?

Br1 xoTHTE MOWTH B TEaTp.

The model answer: MHe Hy»HO KylUTb OWJIET.

Task 15. Get to know the situation and answer the question: Ymo eéam nyscno coenamo 6 dannoi
cumyayuu?

Br1 xoTHTE 3aHUMAThLCS CIIOPTOM.

The model answer: MHe Hy>KHO TIOHTH B CIIOPT3aJl.

Task 16. Get to know the situation and answer the question: Ymo eam nyscno coeramo 6 dannotl
cumyayuu?

BbI XOTHTE KYIUTH HOBYIO OEXKTY.

The model answer: MHe Hy>KHO TIOITH / TO€XaTh B TOPTOBLIi IIEHTP (B Marasu «Oaexkaa).

Task 17. Get to know the situation and answer the question: Ymo ewut donicubl coeramnv 6 danHol
cumyayuu?

3aBTpa y Bac KOHTPOJIbHAsA paboTa MO PyCCKOMY SI3BIKY.

The model answer: I no/mkeH MOBTOPUTH TPpaMMATHKY (IIOJTOTOBUTHCS K KOHTPOJIBHOM paboTe).



Task 18. Get to know the situation and answer the question: Ymo est donicnbl coenamo 6 OanHOU
cumyayuu?

BbI XOTHTE XOPOIIIO TOBOPHUTH TTO-PYCCKH.

The model answer: 1 nomxeH MHOTO 3aHUMATHCSL.

Task 19. Get to know the situation and answer the question: Yem unmepecyromes smu 1oou?
AHTOH 4acTO CMOTPUT (PyTOOIbHBIE MaTUH.
The model answer: Auton uarepecyercs GyTOOIOM.

Task 20. Get to know the situation and answer the question: Yem unmepecyromes smu 1oou?
Jlena yacto ObIBa€T Ha KOHIEPTAX KIACCHYECKON MY3BIKH.
The model answer: Jlena uHTEpECyETCS KIACCHIECKON MY3bIKOM.

Task 21. Get to know the situation and answer the question: Yem unmepecyromes smu 1oou?
Mos cecTpa 4acTO MOKYIAeT KHUTH 110 OMOIOTHH.
The model answer: Most cecTpa uHTEpeCyeTCst OUOIOTHEH.

Task 22. Get to know the situation and answer the question: I'0e 6vi1u smu aroou?
AXMeJ1 TOJTy4YHII HOBYIO OaHKOBCKYIO KapTy.
The model answer: Axmen Ob1 B OaHKe.

Task 23. Get to know the situation and answer the question: I'0e 6vi1u smu aroou?
Pamx B3s1 y4eOHUKY 110 (PU3HOIOTHN ¥ aHATOMUH.
The model answer: Pagx Ob1 B OnOIMOTEKE.

Task 24. Get to know the situation and answer the question: I'0e 6bi1u smu aroou?
Jlene o4ueHb MOHPABUIICS HOBBIN (PUIIBM.
The model answer: Jlena Obl1a B KHHOTEATpE.

Task 25. Get to know the situation and answer the question: I'0e 6vi1u smu aroou?
Bpau Bemmucan /[pBuny penenr.
The model answer: I3y ObLIT B OMMKIMHKUKE (B OOJBLHUIIE).

Task 26. Get to know the situation and answer the question: I'0e 6vi1u smu ar0ou?
Hpa kymnuiaa HOBYIO KypTKY | IIAIKY.
The model answer: Vpa 6puta B Marazute «Oexaa» (B TOProBOM IIEHTPE).

Task 27. Get to know the situation and answer the question: Ymo upasumcs smum 100sm?
Harama 1106UT COBpEMEHHYIO MY3bIKY.
The model answer: Haraime HpaBUTCSI COBpeMEHHAsi My3bIKa.

Task 28. Get to know the situation and answer the question: Ymo upasumcs smum n100sm?
JIxoH MOOUT CMOTPETh 0aCKETOOIBHBIE MATUH.
The model answer: J[»xoHy HpaBHuTCS1 6ACKETOOI.

Task 29. Get to know the situation and answer the question: Ymo upasumcs smum n00sm?
DTH CTYAEHTHI TIO0AT UTpaTh B GyTOOI.
The model answer: Otum ctyneHTam HpaBUTCS (HyTOO.

Task 30. Get to know the situation and answer the question: Ymo upasumcs smum a100sm?
OTa AeBOYKa JIIOOUT CMOTPETh MYIbT(PHIbMBI.



The model answer: Dtoit qeBoYKEe HPABATCS MYJIbTHUIBMBI.

Task 31. Get to know the situation and answer the question: Ymo upasumcs smum 11005m?
Moii ipyr nt00UT UrpaTh B KOMIIBIOTEPHBIE UTPHI.
The model answer: Moemy apyry HpaBsSTCS KOMIIBIOTEPHBIC UIPHI.

Task 32. Start a dialogue in this situation.
Bbl xoTHTE MO3HaKOMUTHCS € AeBylIKoW. Kak Bbl cipocute €€ ums?
The model answer: 3apasctByiite! Ckaxkurte, MOKaIyiHcTa, Kak Bac 30ByT?

Task 33. Start a dialogue in this situation.
Bbl x0THTE KYNIUTH PYUKY, HO HE 3HaeTe €€ 1eHy. O 4€M Bbl CLIPOCUTE IpojiaBLa’?
The model answer: Ckaxxute, moKaryicra, CKOJIbKO CTOMT 3Ta pydKa?

Task 34. Start a dialogue in this situation.
Bai ToBapui He ObUT Buepa Ha ypoke. Kak BbI CIIpOCHTE €ro 0 MPUYUHE OTCYTCTBHUS Ha yPOKe?
The model answer: TTouemy TbI He ObLT BYepa Ha ypoke?

Task 35. Start a dialogue in this situation.

Bpl x0THTE NpUIIIACUTH HOBOIO Jpyra B IOCTH. Pacckaxkure eMy, Iie Bbl )KUBETE, JaUTE CBOU
azapec.

The model answer: Ilpuxonu ko MHe B roctu. S kuBy B cTyaeH4eckoM oOmiexutuu Nel Ha
npocnekre TeaTpanbhbii, 59, B komHate Ne 305.

Task 36. Start a dialogue in this situation.

Bol npunum Ha npuéM k Bpauy. OOBSCHUTE, YTO CIYUYHIOCH.

The model answer: 3apasctByiite, moktop! Y MeHst Bbicokas temmeparypa. (Y MeHs OOIuT
rOJIOBA U ropiio. Y MeHs OOJIUT KHUBOT / )KEITyIOK U T.II.)

Task 37. Start a dialogue in this situation.
Ber npunnm B 6ubanoreky. CKaXuTe, 4TO BBl XOTUTE.
The model answer: 3apaBctByiite! 5 X0uy B34Th Y4COHUK 10 XUMHUH.

Task 38. Start a dialogue in this situation.
Ber npunm B Marazun «Onexaa», XOTHTE MOCMOTPETh U KYITUTh KypPTKY.
The model answer: TTokaxuTe, moxanyiicra, 3Ty Kyptky. CKOJIBKO OHA CTOUT?

Task 39. Start a dialogue in this situation.
BbI npunnm B anTeky ¥ XOTHTE KYIMHUTh aCITUPUH.
The model answer: CxaxuTe, oxanyiicra, y Bac ecTb acnuput? CKOJIBKO OH CTOUT?

Task 40. Start a dialogue in this situation.

Be1 npunnm B kade u xotute moodenats. [lompocure oduiinanTa 1aTh MEHIO U CIEIalTE 3aKas3.
The model answer: 3npasctByiite! JlaiiTe, moxkanyiicra, meHto. [IpuHecure, moxanyiicra, cajiar,
PUC C KypHLIEH U MOPOKEHOE.

Task 41. Answer your interlocutor’s question.
— OtkyJa BbI npuexanu?
The model answer: — f npuexan u3 Jlusana (Muauu u T. 11.)

Task 42. Answer your interlocutor’s question.
— I'ne BBI )xuBETE ceityac?



The model answer: — Ceituac s )xuBy B Poccuu, B ropoae PoctoBe-Ha-JloHy, Ha MPOCIHEKTE
TearpanbHbIi, B CTyZeHUECKOM 00mmIekuTun Nel.

Task 43. Answer your interlocutor’s question.

— I'ne BbI yuntecn?

The model answer: — I y4ych B PocTOBCKOM rocyapcTBEHHOM MEIMIIMHCKOM YHHBEPCUTETE,
Ha Jie4e0HOM (hakynpTeTe, Ha BTOPOM Kypce.

Task 44. Answer your interlocutor’s question.

— Kakue npenmeTts! Bbl n3yuyaere?

The model answer: — S u3y4airo pycCKHil S3bIK, aHATOMHUIO, (DU3UOJIOTHIO, TUCTOJIOTHIO,
MHUKPOOHOJIOTHIO, OMOXUMHIO.

Task 45. Answer your interlocutor’s question.
— [ToueMy BbI U3y4aeTe PyCCKUM SI3bIK?
The model answer: — I u3y4aro pycckuii si3bIK, IOTOMY YTO 5 )KUBY U y4ycbh B Poccun.

Task 46. Answer your interlocutor’s question.
— Kewm BBl xoTHTE CTAaTH?
The model answer: — I xouy ctaTh Bpadom.

Task 47. Answer your interlocutor’s question.
— Kakum Bpadom BbI xoTHTe cTaTh? (Kakyro BpaueOHYIO ClICUaIbHOCTD BbI BEIOpaTn?)
The model answer: — fI xouy cTaTh BpauOM-KapIHOJOTOM.

Task 48. Answer your interlocutor’s question.

— [ovemy BBI pelniu crtath Bpauom?

The model answer: — S pemmi craTh BpauoM, IOTOMY YTO XO4y IOMOTaTh OOJBHBIM JTHOMSIM,
cracath MX OT CMEpTH.

Task 49. Answer your interlocutor’s question.

— I'ne BBI Oyete paboTaTh MOCI€ OKOHYAHUS MEAUIIMHCKOTO YHUBEpCUTETa?

The model answer: — Tlocie OkOHYaHUSI MEAMIMHCKOrO yHHBepcuTera si Oyday paborarth Ha
pOAMHE B TOCYAapCTBEHHON (YaCTHOMW) OOJILHULIE.

Task 50. Answer your interlocutor’s question.

— Yo BBI JTO0OHTE €TaTh B CBOOOJHOE Bpemsi?

The model answer: — B cBoOomHOe BpeMs s JIFOOJIO TYJIATh, 3aHUMAThCSl CIIOPTOM, CMOTPETH
UHTEpPECHbIC (DHIIBMBI, HTPATh B KOMIIBIOTEPHBIC UTPBI H T. 1.

Task 51. Read the microtext and answer the question: Kakou 6x1a0 6 MeOUyuHCcKyo HayKy 6Héc
H.U. [Tupozos?

3ameuaTenbHbll pycckuil yuéHblii Hukomait MBanoBuu IIuporoB BCIO CBOIO JKU3HB
NOCBATHI cinykeHuto Poaune. OH OblT TeHUATIBbHBIM XUPYProM, aHATOMOM, OCHOBOIIOJIOKHUKOM
BOCHHO-TIOJIEBOM XUPYPrUH, SKCIIEPUMEHTATOPOM, MIEIaroroM U OOIIECTBEHHBIM AeareneM. Ero
Hay4yHble pabOThl TOJOXWJIM HAYajJ0 AaHATOMO-IKCIIEPUMEHTAJILHOMY HAIPaBJICHUIO B
npakTudeckoi xupypruu. OH co3/an yueHue 006 0CHOBaxX MEIUIIMHCKOMN CITy»ObI Ha (poHTE.

The model answer: TTuporos moJ0Xuia HAYaI0 aHATOMO-3KCIIEPUMEHTAILHOMY HAIPABICHUIO B
NPaKTHYECKON XUPYPTUH U CO3/1a)l yYeHHE 00 OCHOBaX MEIUIIMHCKOW CITyKObI Ha ()pOHTE.

Task 52. Read the microtext and answer the question: Kaxoii exiad 6 nayky euéc
U.U. Meunuxos?



Nms 3ameuarenbHOro pycckoro ydénoro Mneu Mnpnua MedyHuKOBa M3BECTHO BO BCEX
ctpaHax wmwupa. W.M. MeuHUKOB — 3aMmeyaTenbHBIH pycCKUid OWoIor H  MaToJor,
OCHOBOIIOJIO)KHUK ~ CPaBHUTEIBHOM  NATOJIOTMHM, HMMYHOJOTHMH, COBPEMEHHOM  HayKu
repoHTojoruu (Hayku o Ooprbe co crapenuem). Hayunbie tpyner W.M. MeuynukoBa 10
MUKpPOOHOJIOTUHA, WMMYHOJIOTUH, TE€POHTOJIOTMU ChITpaid OOJIBIIYI0 pPOJb B Pa3BUTUHU
menuuuHbl. .M. MeYHHKOB OTKpBUI siBJICHHE (HaromuTo3a, Co3Jajl TECOPHIO O MPOUCXOKICHUN
MHUKPOOPTraHU3MOB.

The model answer: W.M. Me4HHUKOB OTKpbUT sIBJICHHE (Harommrosa, CO3/4al TEOPHIO O
MIPOUCXO0KIEHUH MUKPOOPTaHU3MOB.

Task 53. Read the microtext and answer the question: Kaxoti éxnao 6 nayky eénéc U.I1. I[laenoe?
WBan IlerpoBuu [laBnoB — Benukwii pycCKuil (pU3UOJIOT, CO3AATENb YYEHHUS O BBICIICH
HepBHOU nestenbHOCTH. MMs TlaBnmoBa mmpoko m3BectHO BO BcéM mupe. W.II. I1aBnoB u ero
COTPYJIHUKHM 3aHMMAJIUCh W3YYEHHUEM BBICIIEH HEPBHOW JEATENBHOCTH JKUBOTHBIX. B cBoMX
Hay4yHbBIX paboTtax [laBmoOB gan MONHOE CUCTEMATUYECKOE H3JI0KEHUE YUYEHHUS O BbICIICH
HepBHOU aesrenbHocTU. MccnenoBanus I1aBnoBa ¢u3nonoruu BbiCIIed HEPBHOM AEATEILHOCTU
CBITpaJu OOJBIIYIO POJIb B Pa3BUTUU (PU3UOIIOTUH, MEIUILIUHBI, ICUXOJIOTHH U MEAarorukH.

The model answer: VBan Ilerpouuy [1aBioB co3man yueHue o BbICHICH HEPBHOM JESITEIEHOCTH.

Task 54. Read the microtext and answer the question: Kakoii exnao enéc C. Déoopos 6
MeOUYUHCKYIO HAYKY?

CesarocinaB HukomaeBnu @ENOpOB — M3BECTHBIN poccuiickuii odrampmorior. Ero 3HaOT He
Tonbko B Poccuu, HO U BO MHOTUX cTpaHax mupa. OH MOMOT MHOTUM OOJBHBIM: BEPHYJIT UM
3peHHe, PaJoCTh KU3HU, PaOCTh BUACTh OKpykatouui mup. C.H. ®Eénopos siBnsieTcs aBTOpoM
MHOTUX OTKPBITUH U u300peTeHuii. OH 3aHUMAaNCS Pa3IUYHBIMU MPOOJIEMaMH KOPPEKIUU
3peHus. JTO U 3aMeHa XpyCTaJliKa, U YJAJICHUE KaTapakTbl, U JeueHue OIM30pYyKOCTH, HaKe
camoii cunbHOM. OH co34al TepBbIl HMCKYCCTBEHHBIM XpPYCTalUK U pazpaboTan METOIUKY
OTIEpAIIMH JIJIsl 3aMEHBI TOMYTHEBIIIETr0. MHOTHE CTpaHbl MUpa MIPUOOPEIH JIUIIEH3UIO Ha TIEPBYIO
JIMH3Y.

The model answer: C. ®&nopoB co3man NEepBbI HCKYCCTBEHHBIH XPYCTAIMK M pa3padoTai
METOJMKY OIEPALMU ISl 3aMEHBI IOMYTHEBILETO XPYCTAJINKA.

Task 55. Read the microtext and answer the question: [Touemy 3.U. Epmonvesy cmanu Hasvigans
«eocnooica Ilenuyunnuny?

3unauna BuccapuonoBHa EpmonbeBa — M3BecTHBIM pycckuil y4u€Hblii-mukpooOuonor. E€
uMs CcBsi3aHO ¢ POCTOBCKMM rocyaapcTBEHHBIM MEIUIIMHCKUM yHHUBepcuTeToM. 3.B. Epmonbena
Obula JUPEKTOPOM HHCTUTYTa OHONOTHYecKOM mnpoduiaktuku uHpexkuuit. B 1942 rogy B
pe3yJibpTare HCCIEAOBAHUM OHA MOJy4WJIa U3 IUIECEHM AKTUBHBIA IEHMIWIINH, KOTOPBIA Jall
IIPEKPACHBIE PE3yJbTaThl. JTO JIEKAPCTBO BBUICYMIIO THICAYM PAHEHBIX BO BpeMs Benukoi
OtedecTBEeHHOI BOIHBI, @ EpMOIIbeBY cTanu Ha3bIBaTh «rocnosxa [leHumminey.

The model answer: 3.11. EpMoinibeBy cTanu Ha3bIBaTh «rocrnoxa [[eHUIMUIMHY, TIOTOMY YTO OHA
MOJTYYHJIa U3 TUIECEHU aKTUBHBIM NMEHUIIWIUINH, KOTOPBIM BBUICHHJI THICSIYM PAHEHBIX BO BpEeMSs
Bemukoit OteuecTBEHHON BOWHEI.

Task 56. Read the microtext and answer the question: ITlouemy smo Ovina Heobwviunas onepayusi?

Oto npousonuio B 1961 rony B Antapkrune. Ha nayuynoit cranunuu HoBonazapeBckoii
KU U paboTtanu ABeHaauats yu€Hbix u3 Poccun. Cpenu HHX ObuT Mononoi Bpau JleoHun
PorozoB. Ognaxas! Jleonusa 3a6onen. OH modyBCcTBOBaJI 00JIh B MPABOM YacTH KUBOTA. JIeOHU T
HOHSJ, 4TO 3T0 anmeHauuuT. HyxHa Obima cpounas omepauus. Ho kro cnemaer e€? Torna
Jleonun Poro3oB pemmit onepupoBath cedst caMm. JIeoHn T iexan Ha KpoBaTH, CMOTPEN B 3€pPKaJIo
u onepupoBai ceds. Onepauus npogonkanach 105 MUHYT U OKOHUMIIACH YCHEIIHO.



The model answer: Dto Obuta HeoObIUHAs omeparus, MOTOMy 4TO Bpad Jleonua Poro3os cam
ceOe crenan onepanuio anneHaumrTa. (Bpau Jleonun Poro3os pemmi onepupoBaTh cedst cam.)

Task 57. Read the microtext and answer the question: Kaxoii eéxnao enéc J.U. Menoenees &
MUPOBYIO HAYK)'?

JAmutpuii VMBanoBud MeHeneeB — BEIUKUN PYCCKMH Y4YEHBIM, I'€HUAIBbHBIA XUMUK,
bu3uK, cozaaTens NePUOAUYECKON CUCTEMbl XUMHUYECKHUX 3JIEMEHTOB.

Jmutpuii  MBanoBuu MeHaeneeB  OTKPbLI  NEPUOJUYECKMM 3aKOH UM CO3Jall
MEPUOJUYECKYI0 CUCTEMY XHMMHYECKHX 3JieMeHTOB. [lepuomnueckuii 3axkon [[.M. Menneneesa
IIOMOT XHMMHKaM CO3/1aTh HECKOJBKO HOBBIX JJIEMEHTOB B Jsaboparopusix. OOHH U3 3THX
9JIEMEHTOB Ha3bIBaeTcs 'MeHzeneBuil". MeHzeneeB Hamucaia W3BECTHBIM ydeOHUK "OCHOBBI
xumun". Benukuil pycckuil ydensiii J[.M. MenneneeB 3aHuUMaics HE TOJIBKO XUMHEHW, HO U
(bU3UKOH, U3ydall 3eMHYIO aTMocdepy.

The model answer: Imutpuii IBaHOBU4Y MeHeneeB OTKPBUT MEPUOTUYSCKHIA 3aKOH M CO3/1all
MEPUOIUYECKYIO CUCTEMY XUMUYECKUX HJIEMEHTOB.

Task 58. Read the microtext and answer the question: ITouemy moosicro ckazams, umo Imumpui
ObLL OUeHb CNOCOOHBIM PeOEHKOM?

J.W. MenpneneeB poauncs B Cubupu, B ropoae TobGonbcke, B 1834 romy. B cembe
MengeneeBbix ObuT0 17 mereit. [IMuTpuii Hadan 4uTaTh U MUCaTh, Korma emy Obuto 4 roga. OH
MPOBOAMII MHOTO BPEMEHHM B CeMEWHON OmOimoreke. B rMMHa3uu OH ydujcs O4€Hb XOPOLIO.
Emy HpaBwmuce pasaele mnpenmersl. Ho ocobenno Jmutpuit mobun (usmky, XUMHIO,
MaTemMatuky. OH yCNEUIHO OKOHYMJI TMMHa3Hio, koraa eMmy Obuio 15 ner. Ilocne okoHuaHus
ruMHazuu Jmutpuii UBaHOBUY MOCTYNWII B iegarornueckuii ”HCTUTYT B [lerepOypre.

The model answer: JIMmutpuii Hayaia yuTaTh U MHUCaTh, KOTAa eMy ObuTO 4 roga. OH yCIHEIIHO
OKOHYMJI TUMHA3WI0, KOorjga eMy Obuto 15 JeT, W MOCTynmwi B IEJarormuecKuii MHCTHTYT B
[TerepOypre.

Task 59. Read the microtext and answer the question: ITouemy mbi modcem ckazams, 4mo cembsi
Menoeneeguvix dvina OpysicHou?

Oten Amutpus ObUT yduTeseM, a TOTOM IMPEKTOPOM TMMHa3uu. OTelr OTIaBal MHOTO
BpEMEHH CBOUM JieTssM. OH moMoraJ JIeTsM B yuébe, COBETOBAJ, KaKue KHUTH HYKHO IIPOYMUTATh.
Korga [Imutpuii 6611 MaleHbKMM, €ro oTel 3abonen u ymep. Matb JIMutpust Obliia OueHb YMHOU
Y SHEPTrUYHON >KEHIIMHON, MHOTO YuTala, Jo0uia My3blky. OHa y4uiia CBOUX JIeTeil momMorarhb
B3pOCJIBIM, JIFOOUTh KHUTH, MY3bIKY, CEpbE3HO 3aHMMAThCS. B cemMbe MeHieneeBbIX Bce JTIOOMIN
JpyT Ipyra, IOMOrajy ApyT Apyry U 3a00TUINCH JPYT O pYTe.

The model answer: B cembe MeHeneeBbIx Bce THOOWIH APYT APYra, MOMOTain APYT APYTy U
3a00THUITUCH APYT O JApPYyTE.

Task 60. Read the microtext and answer the question: Ymo nomoeno /[.1. Menoeneesy cmamo
BEUKUM YYEHBIM?

J.N. MenneneeB pomuiicas B Cubupu, B ropoae Tobomscke, B 1834 romy. B cembe
MenneneeBbix 6bu10 17 gereit. Oreny AMuTpus ObLT yUUTEIEM, @ TOTOM JTUPEKTOPOM TMMHA3UH.
Korna [Imutpuii Obl1 MajneHbKUM, ero otern 3aboinen u ymep. Marb MenneneeBa, Mapus
JlMuTpueBHa, Bce CBOM CHMJIBI M DJHEPrui0 otrjaBana cembe. OHa OblJa OYEHb YMHOW H
SHEPruvHOlN KeHIIMHOW. OHa OJHOBPEMEHHO 3aHMMajach JejlaMH HeOOJIbIIOro 3aBoja M
3a00THIach O JIETAX, KOTOPBIM Jajia npekpacHoe oodpazoBanue. (.M. MenaeneeB roBopui, 4To
JUIST HETO TIPUMEPOM B JKM3HU W paboTe Bcerna Obuta ero Martb. JIF0OOBBH K Tpyay, KOTOpOUH
Hayuusa ero mMaTh, nomoria /[.J11. MenzaeneeBy crienarb OTKPBITUS U CTaTh BEIUKUM YUEHBIM.

The model answer: JIt060Bb K Tpyay, KOTOpOl Hayuuiia ero marth, momoria /.M. MennaeneeBy
CTaTh BEJTMKUM YYEHBIM.



Task 61. Read the microtext and answer the question: Ilouemy npogheccop yousuncs, koeoa
nposepun 3a0ayu, komopwie peuwiunra Copos Kosanescxkas?

Codbs BacunpeBHa KoBaneBckasi — mepBasi skeHIIMHa-MareMaTHK. Codbsi *kuiia B Takoe
BpeMs, korjaa B Poccun u Bo MHOTUX cTpaHax EBpONBI )KEHIMH B YHUBEPCUTET HE PUHUMAIIH.
Ho KoBaneBckass MeuTania yUuThCS B YHUBEPCHUTETE, OHA OYEHb XOTEJIA CEPHE3HO 3aHUMAThHCS
Marematukoi. OHa pemmia moexaTh B bepnuH, e Torma paboTan camblii M3BECTHBIN
matematuk Kapn Beiiepmrpacce. Korma mpodeccop yBumen e€, OH ckasal, 4YTO JOJDKEH
OCMOTpETh, Kak Codbs periaer 3a1auu.

YuéHbIil 1an el HeCKOJIBKO TPYAHBIX 3a/1ad M MOMPOCHII MPHUTH Yepe3 Henenmo. OH ObLT
yBepeH, uto Codpsi Oonbliie He NMPUAET, TOTOMY YTO HE CMOXKET PEIIUTh AT 3anadyu. Yepes
HEJeNI0 JeByIIKa MpHUIUIa M CKas3aja, YTO OHa pemwia Bce 3amadu. [Ipodeccop mpoBepui
3agaun W nocmotpen Ha Codpio ¢ yauBienueM. EE pemienuwe 3amad ObLI0O HE TOJIBKO
MpaBUJILHBIM, HO U OY€Hb UHTEPECHBIM.

The model answer: TIpodeccop yauBuiics, Korjaa MpoBepuil 3aaadu, Kotopbie pemmia Codbs
KoBasneBckasi, moToMy 4To €€ pelieHue 3amad ObUI0O HE TOJIBKO MPAaBWIBHBIM, HO U OYCHBb
UHTEPECHBIM.

Task 62. Read the microtext and answer the question: Kakoti ouaenos 6vin y desouku? Ilouemy
Oviia Heobxoouma onepayus?

Opnaxkapl B OonbHMILY MpuBe3Nu JeBouky. E€ 3Bamu Mapuna. Eit Obuto 10 ner. V Heé
ObLTa BBICOKAsl TemriepaTypa. MapuHa HE MOTJia JBUTaThCA, JKalloBajdach Ha OCTPYHO OOJib B
*kuBoTe. Buktop MBaHoBUY ocMOTpen OOJbHYIO I€BOYKY, MOCTYIIAN CepAlle, JETKUe, N3MEPHI
MyJIbC U TOMPOCHJ MEICECTPY B3STh KPOBb M MOYY Ha aHalW3. AHamu3bl MOKa3ald, 4TO Yy
JIeBOYKHM anmneHauuut. Ef HyXHO cpouHO Jaenath omnepauuto. Ecinum He caenars omnepanuio,
JIEBOYKA MOKET yMepeTh. Onepalius mpo1oipKaiack | yac M 3aKOHUMIIACH YCTICIIIHO.

The model answer: ¥V neBouku ObuT anmeHgunut. Ecin He caenaTh omeparuio, AeBOYKa MOIJia
YMEpPETh.

Task 63. Read the microtext and answer the question: Kakou ouaenos 6win y Bukmopa? I[louemy
OvLa Heobxoouma onepayus?

OpnHaxxapl B OOJBHUILY NMPUBE3IU MoJoJ0ro uenoBeka. Ero 3sanu Bukrop. Emy 6buo 20
aet. Bukrop ObUT O4YeHB OJEAHBIM, HE MOT JIBUTAThCS, JKAJOBAJICSA Ha OCTPYIO OOIb B JKEIYJIKeE,
c1abocTh, TONOBOKpYkeHue. bopuc MBaHOBHMY ocMOTpen OOJNBHOTO W TOMPOCHI MEICECTPY
B34Th KPOBb M MOUY Ha aHAIM3bl. AHAJIM3BI TIOKA3aJIM, YTO y MOJIOJIOTO YeIOBeKa s3Ba JKeIly/IKa.
U ecnu He caenaTh CPOUHYIO ONEpalnio, 00JIbHOM MoeT ymepeTs. Oneparnus mpoJonKanach 2
Yaca U 3aKOHYMJIACH YCIICIIHO.

The model answer: ¥V Bukropa Obuta s3Ba kenyaka. M eciau He caenaTh CPOYHYIO OMEPAIUIO,
0O0JILHON MOT YMEpETb.

Task 64. Read the microtext and answer the question: Ilouemy Braoumup pewun cmamo
spauom?

Bnanumup MBaHOBHY MENBHUKOB — IPEKPACHBI XUPYPr-TPaBMATOJIOr. YK€ MHOIO JIET
OH paboTaeT B OOJIbHUIIE CKOPON MEIUIMHCKON momoinu ropoga Pocrosa-na-lony. Briagumup
MBaHoBuY poausics B ropoje A3oBe, KOTOPBI HaxoauTcs Heganeko or PoctoBa. Ero orer Obln
modEpoM, a Mama paboTajia MeIcecTpoil B Topoackoil OompHuUlle. CeMbs MeTbHUKOBBIX ObLIa
oueHb aApyxkHoH. Ho opgHaxnael cayumnocs Hecuactee. Orten Bmagumupa noman B
aBTOMOOMIIbHYIO KaTacTpody. OH MOIy4YnsI MHOTO CcepbE3HBIX TpaBM. Bpauu nonro 6oponucs 3a
XKHU3Hb OOJBHOT0, HO HE cMOTJIH crnactu ero. OH ymep. Torna Bnagumup pemrin craTh Bpauom,
yTOOBI CTIacaTh JIFOACH OT CMEPTH.
The model answer: Bramumup pemmn craTb BpayoM, IMOTOMY YTO XOTEN CIacaTh JIOJEH OT
CMEpTH.



Task 65. Read the microtext and answer the question: Kmo nomoe H.I1. Ilasnosy eviopamo
npogheccuro guzuonoza?

WBan IlerpoBuu [laBnoB — Benukwii pycCKuil (pU3UOJIOT, CO3AATENb YYEHHUS O BBICIICH
HepBHOU nesarenbHocTU. VMs IlaBnoBa mmpoko u3BecTHO BO BcEM mupe. EmE B rumHasuu
[TaBiOB Hayall WHTEPECOBATHCS ECTECTBEHHBIMH HAyKaMHd, HpPOYUTaB paboOTy H3BECTHOTO
pycckoro y4yéHoro MBana Muxaitnosuua CedeHnoBa «Pediekcsl rojgoBHOro mMosra», KOTopas
OTKpbUIa €My HyThb B U3HU. [locie okoHuaHus rumMHa3uu OH noctynuia B IlerepOyprekuit
yHuBepcuteT. B yHuBepcutere y IlaBioBa Obul mpekpacHbll mpemnojaBarenb — Ipogeccop
N.®. [{uon, KOTOpBIH unTan wWHTEpeCcHBIE JeKIuu 1o (usnonoruu. W.II. [TaBnoB ¢ Gonbmum
YBIIEUEHUEM CIyIlal JIeKUMU HTOro npodeccopa. Yke TOrAa OH pPELIMJ 3aHUMaThbCs
¢usuonorueir. OxonuwB yHuBepcuter, I[laBnoB moctynmun B MeOMKO-XHPYPTUUECKYIO
aKaJeMUIo, TJie yUYWIca U OJHOBPEMEHHO paboTal B 1abopaTopuu GU3UOIOTHH.

The model answer: TIIpodeccop WN.®. {uoH, KOTOpBI UYHTAT HWHTEPECHBIC JICKIMH IO
¢dusuonorun, momor W.I1. [TaBnoBy BeIOpaTh mpodeccuto pusnonora.

Task 66. Read the microtext and answer the question: ITouemy Muxaun pewiun cmamo epawom?
Muxaun IlerpoBuu KpacHoB — mnpekpacHblii xupypr-kapauosior. OH paboraer B
LlenTpanpHOii ropojckoit 6onpHHIIE Topona PoctoBa-na-Jlony. Ero oren Obin mH)XKeHepoM, a
MaTh paborana yuyurenbHUIeH B mkose. Cembss Muxanna Obi1a oueHb apyxHoW. Ho oxHax bl
ciayuyriioch Hecuacthe. Oreny Muxauna tspkeno 3abomnen. Y Hero O6bu1 uHdapkT muokapaa. Tpu
JIHS. OH HaxoAuJIcs B peaHuManuu. Bc€ 3To Bpemsi Bpauu OOpOJIHMCH 3a JKU3Hb OOJIBHOTO, HO HE
cmornu cnactu ero. Oten Muxauna ymep. Torma celH pemrun cTaThb BpauoM, YTOOBI CHacaTh
JIOJIEH OT CMEPTH.
The model answer: Muxaui pemimn CTaTh BpauyoM, MOTOMY YTO XOTEN Cracarh JIIOAEH OT
CMEpPTH.

Task 67. Read the microtext and answer the question: Ymo oenan A.Il. Yexos 6o epems
anudemuu xonepuvl?

AnToH [laBnoBuu YexoB — Benukuil pycckuil nucatenb ¥ Bpad. YexoB ponuics B 1860
roqy B ropoge Taranpore, Ha Oepery AsoBckoro mops. Ilocne oxkonwanusi rumnazuu A.IL
UexoB mocTynusl Ha MEAMLIMHCKUMA (axkynpTeT MockoBckoro yHupepcuteTa. Yepes 5 neT oH
OKOHYMJI €T0 U MOJYYnJI AUILUIOM Bpada. YeXoB cunTa, 4To €ro riiaBHOE JIEJ]0 B )KM3HU — JIEUUTh
moneid. CBOW0O MEIUIMHCKYIO TpakTUKy YexoB Hauwan mnon MockBoil. Ero ocHoBHBIMU
narueHTamu Obiu Kpecthsne. B 90-x rogax XIX Beka B Poccun Havanach CUibHAs DIHAEMUS
X0JIephl. DTO ObUIO TpyaHOE Bpemsi. AHTOH [laBmoBHMY cam opraHu30Basl OOJILHUILY B JIEPEBHE,
paboTaii TaM THEM U HOYBIO, JIEUHJI OOJBHBIX XOJIepOoi, 1 00JIe3Hb ObllIa TOOESK IeHA.

The model answer: Bo Bpemst snunemun xonepbl AHTOH [1aBoBHY caM OpraHu30Bal OOJILHHILY
B JIepeBHE, paboTai TaM JHEM M HOYBIO, JICYMIT OOJIEHBIX XOJIEPOH.

Task 68. Read the microtext and answer the question: Zlouemy owcusno A.Il. Yexosa 6Oviia
KOpOmMKOUu?

AHToH IlaBnoBuu YexoB — BenMKuN pycckuil mucarenb M Bpad. [locie oxoHuaHus
MOCKOBCKOr0 yHUBEpPCUTETA OH MOJIYYHJI AUIUIOM Bpada. YeXoB cuuTai, YTo €ro IiIaBHOE JENI0
B KM3HU — JIEUUTh Jitojed. CBOI MEIMLUMHCKYIO0 NpakTHKy YexoB Hauan nmox MockBoil. Ero
OCHOBHBIMM TallUeHTaMu ObuUIM KpecThsiHe. Yepe3 Heckoiabko seT AHToH [laBnoBuu Yexos
3a0omnen TyOepkyné3oM. IlepeexaB u3-3a Oone3nu B SATy, OH YK€ HE 3aHUMAJICS Je4yeOHOM
MIPaKTUKOM, HO ITPOJIOJIKAl MHTEPECOBATHC MEANLIMHOM, YUTAJI CIIELUAIIbHBIE KypHaibl. JKU3Hb
Yexosa Obl1a kopoTkoil. OH ymep B 1904 roay, xoraa emy O0bu10 TOJIBKO 44 rofaa.

The model answer: JXusup A.Il. YexoBa OblTa KOPOTKOH, MOTOMY YTO OH 3aboJjen
TyOepKyIE30M.



Task 69. Answer your interlocutor’s questions about yourself.

Kto BrI? Kak Bac 30ByT? Ckonbko Bam JjieT? OTkyna Bbl npuexanu? e Bbl Kuiau paHblie?
Kakoii 3To ropon? I'ne Bbl sxuBére ceituac? [louemy Bbl pemmnu npuexats B Poccuio? I'ne Bb
yuutech ceituac? Kem Bl xotute ctath? [louemy?

The model answer: 5 crynent-unoctpaner. MeHs 30ByT ... . Mue 20 nert. S npuexan u3 Uuauu.
Panpiie s xun tTam B ropoze Jemn. 3to cronmma Muauu, 6onbmioi u kpacusblil ropoa. Ceiiuac
s )xuBy B Poccun, B ropone Poctose-na-Zlony. S pemmn npuexats B Poccuto, 4TOOBI MOTYyYUTH
MenuuuHckoe obpaszoBanue. Ceifuac g yuych B POCTOBCKOM rocynapcTBEHHOM METUIIMHCKOM
YHHBEpCHTETE Ha JiedeOHOM (pakynbTeTe. S X04y cTaTh BpauoM-KapHOIO0roM, IOTOMY YTO MHE
HPABUTCS 3Ta CIIELUAIBHOCTb.

Task 70. Answer your interlocutor’s questions about your friend.

Kak 30ByT Bamero apyra? Kto on? I'ne on xuBér? Ckonpko emy Jjiet? ['1e u Korja Bbl C HUM
no3Hakommirck? [louemy Bbl ctanu apy3bsimu? OH yuutcs win pabortaer? ['ie oH yuyuTcs uimm
paboraer? Kem on xouer crats? [louemy? Kakoit on uenoBek?

The model answer: Moero npyra 30ByT Pamk. O crynent. On xuBét B Unauu, B ropoae Jemu.
Emy 20 net. S mo3HakOMUIICS ¢ HUM, KOT/Ia YYWJICS B IIKOJE. MBI CTalld Ipy3bSIMH, IOTOMY YTO
y Hac Obutn oOmme uHTepechl. Ceiluac OH yYUTCS B CTPOUTENHbHOM yHHBepcuTeTe. OH Xouer
CTaTh ApPXUTEKTOPOM, YTOOBI IPOCKTUPOBATH KPACUBBIE COBpeMEHHBIE 3/1aHusl. OH CepbE3HBIN U
SHEPrUYHbIN YEJIOBEK.

Task 71. Answer your interlocutor’s questions about the city where you live and study.

I'ne BB ceituac xxuBére? Kakoii 3To ropoa? KakoBo HaceneHue 3toro ropojaa? MoxHO 11 3TOT
ropoJ Ha3BaTh MPOMBINUICHHBIM HeHTpoMm? [louemy? Kakue By3bl ecTh B ropone? MoXHO JH
3TOT TOpojl Ha3BaTh KyJbTypHbIM LeHTpoMm? [lodemy? Kak Ha3biBaeTCs LIEHTpalibHas yiuIa
ropona? Kakue mHTEpecHbIE MecTa €cTh B 3TOM ropojie? Bam HpaBUTCS KHUTh B 3TOM ropoje?
[Touemy?

The model answer: Ceiiuac st sxuBy B ropoae Pocrose-Ha-J[ony. PoctoB-Ha-J[oHY — 3TO cTONmMIa
IOxHOTO henepanbHOro oKpyra, 00JbIION U KpacuBblid ropo. 3neck kuBET 1 300 000 uenoBexk.
OTO KpPYNHBIA NPOMBIIIICHHBIM LEHTP, OTOMY YTO 3/€Ch PabOTaeT MHOTO 3aBO/IOB M (haOpuK.
Camble kpynHble By3bl ropoaa — lOxublil ¢enepanbubiii yHusepcuter (FO®VY), Jonckoit
rocynapcTBeHHbIl TexHuueckuit yHuepcureT (JAI'TY) um PocToBckuit rocyaapCTBEHHBIH
MeaunuHckuil yHuBepcuteT (PoctTT’MYVY). PocToB — KynbTypHBIM LEHTp, TOTOMY UYTO 3/1€Ch €CTh
MHOI'0 TE€aTpoB, KMHOTEATpoB, My3eeB. lleHTpanbHas ynuua ropona — bonpmas Cagosas. B
ropoje €cTh OOJIBIION 300MapK, KpacuBas HaOepexHas peku JloH, memexomHas yiuia
ITymikunckas, craguoH "PocroB-Apena". MHe HpaButcs kuTh B PocTOBE, MOTOMY 4YTO 3TO
0OJIBIIION COBPEMEHHBIN TOPO/I.

Task 72. Answer your interlocutor’s questions about the country where you live and study.

I'me BBl ceiiuac xuBére? Kakas 310 cTpaHa? KakoBo HaceneHue crpaHbl? Kak HasbIBaeTcs
cromuua Poccun? Kakume kpynubelie ropoma Poccum Bel emé 3Haete? KTO CTOMT BO TIjiaBe
rocynapctBa? Kak pasBurta skoHOMMKa cTpaHbl? Kakyro mpoaykuuto skcnoptupyer Poccnsa?
Urto mpusnekaer B Poccuro TypuctoB? Kakue ropoma B Poccum Bl yxe mocetmnu? Bam
HpaBuTcs kuTh B Poccun? [louemy?

The model answer: Ceiiuac s xuBy B Poccum. D10 camas Oonbinas ctpaHa B mupe. EE
HacesieHue cocrasiseT 145 muwnmonoB yenosek. Ctonuna Pocecun — ropon Mocksa. KpynHseie
ropona Poccun — Cankr-IlerepOypr, Hixuuit Hosropon, Exarepun6ypr, Boponex, Bonrorpan,
PocroB-na-Jlony, HoBocubupck u ap. Bo rmase rocymapcta ctouT mpesugeHt B.B. Ilytun.
Poccust — 3To cTpaHa ¢ xopolio pa3BUTON s3KoHOMUKOU. Poccust sxkcnoptupyer HedTsh, ras, Jiec,
anMasbl, 3€pHO U JAPYTyK HNPOAYKIMIO. TypHUCTOB NpUBIEKAIOT KyJIbTypa, apXUTEKTypa U



ucropusi Poccun. S yxe Obpu1 B MockBe. DTO o4ueHb OONBIION U KpacuBbIM Topoa. (S emgé He
nocemain apyrue ropoaa Poccun). Mue HpaButcs x%uTh B Poccuu, noTroMy 4To 37€Ch XOpOILIUE
YCIIOBUS JUIsl )KU3HU U YUEOBI.

Task 73. Answer your interlocutor’s questions about your home country.

Otkyna Bel npuexanu? I'ne Haxoautces Bama crpana? (E€ reorpaduyeckoe nonoxenue.) Kakyro
mIomaabs oHa 3aHuMaet? KakoBo HaceiieHue Baiieil ctpanbl? Kak Ha3pIBaeTCs CTOJMIA Ballen
ctpanbl? Kakoil opunmanbHblil a3k B Bameld crpane? Kto crout Bo riase rocynapcta? Kak
pa3BUTa SKOHOMUKA Baied ctpanbl? Pa3BUT W B Baiieil crpa”e TypusM? UTo NpuUBIEKaeT B
Ballly CTpaHy TypHCTOB?

The model answer: S npuexan uz Uugun. Maans naxoautces B FOxuoi Asuun. OHa 3aHHMaeT
wiomanp 3 287 263 xkm?. Hacenenue crpanbsl — 1,42 muummapaa denosek. Cronuua Mnann —
ropoa Hero-Jlemu. B Konctutrynuun Wuguu onpeaenén 21 odunmanbHbiil s3bik. MHaus —
denepaTUBHOE TOCYIapCTBO, IMApPJIAMEHTCKas pecryOiuka. Bo TlaBe rocyaapcrBa CTOUT
npemMbep-MUHUCTP. MHIUS — 3TO cTpaHa ¢ ObICTpopa3BHBaromielics SkoHoMuKoW. B Mumun
pa3BuT TypusM. KpacuBas mnpupoma, apXuUTEKTypa, KyJIbTypHbBIE TOCTONPHUMEUYATEIHLHOCTH
MIPUBJICKAIOT B CTPaHy TYpPUCTOB.

Task 74. Answer your interlocutor’s questions about the university where you study.

Kak HaspiBaercs By3, B KOTOpoM Bbl yuutech? I'ne oH Haxoautcs? Korzna oH Obl1 ocHOBaH?
Ckonbko (akynbreToB ecth B By3e? HazoBute HekoTopsle n3 HUX. Ha xakom dakyiabTere Bbl
yunrecb? CKOJIBKO JieT Bbl Oyaere yuuTbecs Ha 3ToM (akynbrere? Bpaueil kakux
crienuanbHOCTEN TOTOBUT By3? Kakux M3BECTHBIX BBIITYCKHUKOB Ballero By3a Bbl 3HaeTe?

The model answer: S yuych B POCTOBCKOM roCyIapCTBEHHOM MEIMIIMHCKOM YHHUBEPCUTETE
(PoctI'MY), kotopslit HaxonuTcsi B 1eHTpe ropoaa PoctoBa. On Obu1 ocHoBan B 1930 romy.
Ceiiuac B By3e 12 ¢akynpreToB: neueOHO-TPOYUIAKTHUECKUHA, MEAUATPUICCKUN, METUKO-
npodWIAKTUYECKUH, CTOMATOJOTMYecKul, QapmaneBTuueckui, QakyiabTeT KIMHUYECKON
MICUXOJIOTHH, (PaKyJIbTET MO OOYYEHHIO MHOCTPAHHBIX CTYJEHTOB, OPJMHATOPOB U ACIHPAHTOB.
S ydych Ha nedeOHO-podmiakTHIeckoM (akynbrere. S Oyay yuuTbes 6 JeT. YHHUBEPCUTET
TOTOBUT Bpayeil pazIUYHbIX CIEHUANIbHOCTEH: XUPYpProB, TEpameBTOB, OQTAIbMOJIOIOB,
ypOJIOTOB, TMHEKOJIOTOB, BOGHHBIX Bpayeil W T. 1. MHorue Bpauu, W3BECTHBIE BO BCEM MHDE,
yunnuchk B PoctTI’MY, nanpumep, mukpobuosnor 3unauna EpmonbeBa, odransmomnor Cearocinas
DEnopos.

Task 75. Answer your interlocutor’s questions about your future profession.

Kem BbI xoTuTe crars? Kakas sto mpodeccus? Iloyemy BwI BeiOpanu 3Ty mpodeccuro? Urto
TOBOPWJIM O Tpodeccuu Bpada M3BecTHbIe Moau? Kakumu kadecTBamMH, MO-BallleMy MHEHHIO,
JoJikeH obsanarh Bpau? Kakyro BpaueOHyI0 ClIeIIUaIbHOCTh Bbl XOTUTE NMONy4YuTh? [Touemy?

The model answer: S xouy cratb BpauoM. [Ipodeccus Bpaua — camasi MUpHas U TyMaHHas
npodeccuss Ha 3emiie. DTO OUEHb TPYyAHAs, HO BaXKHas W HyxkHas mpodeccus. S BeiOpan o1y
npodeccuio, IOTOMY UTO Bpay CIacaeT JII0JIeH OT CMEPTH, BO3BpAIlaeT UM 3/I0POBbE M PATOCTh
xu3Hu. [lo MHenuto ['unmnokpara, Bpad JOKEH ObITh COBECTIIMBBIM, CKPOMHBIM, PEIIUTEIbHbIM,
JIOJDKEH 3HATh BCE TO, UTO HEOOXOMMO U TOJIE3HO IS 3/10poBbs. (Benmukuil pycckuii nucarens
A.TI. UexoB, KOTOPHII TOKE OBLIT BpayoM, THCAN, YTO Bpay JOJDKEH YBaXKaTh JAPYTroro 4ejioBeKa,
OBITH MATKHUM, JOOPBIM, BEXJIUBBIM, YMETh COCTPa/aTh, ObITh TPy 0at00MBHIM.) Ha Mot B3rmsa,
Bpad JOJDKEH OBbITh BHHUMATEIbHBIM, TEPIEIHUBBIM, CIIOKOWHBIM, JOOPBIM, OTBETCTBEHHBIM WU
MUJIOCEPIHBIM. S X04y cTaTh BpauOM-KapAHOJIOIOM, IIOTOMY YTO B MOEH CTpaHE MaJl0 TaKHX
CIIEUAIIUCTOB.



Competence assessment criteria and assessment scales

independence in the
application of skills. The
lack of confirmation the
competence formation
indicates the negative
results of mastering the
discipline.

skills and abilities for

solving educational tasks

in full accordance with
the sample given by the

teacher, according to the

tasks, the solution of

which was shown by the

teacher. It should be
assumed that the
competence has been
formed at a satisfactory
level.

knowledge, skills and
abilities in solving
tasks similar to the
samples, which
confirms the presence
of a formed
competence at a
higher level. The
presence of such
competence at a
sufficient level
indicates a stable

“Fail” grade (failed) or lack | “Satisfactory” grade “ Good” grade (pass) “Excellent” grade

of competence formation (pass) or satisfactory or sufficient level of (pass) or high level of
(threshold) level of competence competence
competence development | development development

The inability of the student | The student The student The student

to independently demonstrates demonstrates the demonstrates the

demonstrate knowledge independence in independent ability to be

when solving tasks, lack of | applying knowledge, application of completely

independent in
choosing a way to
solve non-standard
tasks within the
discipline using
knowledge, skills and
abilities acquired both
during mastering this
discipline and related
disciplines. The
competence should be
considered to be

practical skill. formed at a high level.
Criteria for evaluating the test control:
Percentage of correct answers Grades
91-100 Excellent
81-90 Good
70-80 Satisfactory
less than 70 Fail

When evaluating tasks with the choice of several correct answers, one mistake is allowed.

Criteria for evaluating skills:

Descriptors

Grade consistency of Engwlledge of th]? performing
theoretical knowledge methodology to perform practical skills
practical skills
Excellent systematic stable stable knowledge of the selfsufficiency and
theoretical knowledge of | methodology of performing | correctness of the
the vocabulary, practical skills in the correct | implementation of
morphology, syntax of sequence practical skills and
the Russian language abilities
Good systematic stable stable knowledge of the selfsufficiency and

theoretical knowledge of
the vocabulary,
morphology, syntax of
the Russian language;
some inaccuracies are
made, which are detected
by oneself and quickly
corrected

methodology of performing
practical skills; some
inaccuracies are made,
which are detected by
oneself and quickly
corrected

correctness of the
implementation of
practical skills and
abilities




Satisfactory

satisfactory theoretical
knowledge of the
vocabulary, morphology,
syntax of the Russian
language; some mistakes
are made, which are
corrected with the help of
a teacher

knowledge of the basic
provisions of the

methodology for performing

practical skills; some
mistakes are made, which
are corrected with the help
of a teacher

selfsufficiency in the
implementation of
practical skills and
abilities

Fail

low level of knowledge
of vocabulary,
morphology, syntax of
the Russian language and
/ or cannot demonstrate
by oneself practical skills
or performs them,

making gross mistakes

low level of knowledge
the methodology
performing practical skills

of
of

inability to perform a
skill independently

Criteria for evaluating situational tasks:

Descriptors

Grade understanding situation analysis situation solving skills
the problem

Excellent full understanding of high ability to analyze | high ability to choose a
the problem. All the the situation and draw | method of solving a
requirements for the conclusions problem, confident skills
task have been fulfilled in solving a situation

Good full understanding of the ability to analyze | the ability to choose a
the problem. All the the situation, draw method of solving a
requirements for the conclusions problem, confident skills
task have been fulfilled in solving a situation

Satisfactory partial understanding of | satisfactory ability to | satisfactory situation

the problem. Most of
the requirements for the
task have been fulfilled

analyze the situation
and draw conclusions

solving skills, difficulties
in choosing the method
of solving the problem

Fail

misunderstanding of the
problem. Many of the
requirements for the
assignment have not
been met. There is no
answer. There was no
attempt to solve the
problem

low ability to analyze
the situation

insufficient situation
solving skills




Interview evaluation criteria:

Grade

Descriptors

the ability to explain

the logic and

the strength (represent) the essence consistency
of knowledge of phenomena, of the answer
to draw conclusions
Excellent strength of knowledge of high ability to explain high logic and
the fundamentals of the the essence of consistency of the
subject area being studied, | phenomena, events, answer
the answer is characterized | draw conclusions and
by the depth and generalizations, give
completeness of the topic; | reasoned answers, give
mastery of terminology; examples
logic and consistency of
the answer
Good strong knowledge of the the ability to explain the | logic and consistency
fundamentals of the essence of phenomena | of the answer
subject area being studied, | and events, draw
the answer is characterized | conclusions and
by the depth and generalizations, give
completeness of the topic; | reasoned answers, give
mastery of terminology; examples; however, one
fluency in monologue or two inaccuracies in
speech, but one or two the answer are made.
inaccuracies in the answer
are made.
Satisfactory satisfactory knowledge of | satisfactory ability to satisfactory logic and

the fundamentals of the
subject area being studied;
an answer characterized by
insufficient depth and
completeness of disclosure
of the topic; knowledge of
the basic issues of theory.
There may be several
errors in the content of the
answer.

give reasoned answers
and give examples;
satisfactorily developed
skills in analyzing
phenomena.

There may be several
errors in the content of
the answer.

consistency of the
answer

Fail

poor knowledge of the
subject area being studied,
shallow coverage of the
topic; poor knowledge of
the basic issues of theory.
Serious errors in the
content of the answer are
made.

weak skills in analyzing
phenomena;

inability to give
reasoned answers.
Serious errors in the
content of the answer
are made.

lack of logic and
consistency in the
answer




